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QUESTION 1

You ate attempting to establish a SnapMlrror relationship between your ONTAP cluster (AcmeClusOl) and a partner
company\\'s ONTAP cluster (WidgetsClusOl). The clusters are unable to establish a peering relationship. You perform a
packet capture on WldgetsClusOl and do not see any packets from AcmeClusOl. You also discover that the IP subnet
that Is used for WidgetsClusOl\\'s intercluster LIFs overlaps with a local subnet at your company. 

In this scenario, which feature would enable AcmeClusOl and WidgetsClusOl to peer with each other? 

A. VLANs 

B. broadcast domains 

C. IPspaces 

D. ONTAP subnets 

Correct Answer: C 

https://kb.netapp.com/Advice_and_Troubleshooting/Data_Protection_and_Security/SnapMi
rror/How_to_create_and_configure_Cluster_Peering_with_designated_InterCluster_LIFs_u sing_IPSpaces 

 

QUESTION 2

You are currently using SnapMlrror Synchronous (SM-S) to protect a critical workload at your organization and you want
to convert the SnapMlrror policy from Sync to StrictSync. In this scenario, which procedure allows you to achieve this
task? 

A. Recreate the SnapMirror relationship, specifying the strictsync policy, then re- synchronize it. 

B. Modify the existing SnapMirror relationship specifying the strictsync policy, then re- synchronize It. 

C. Recreate the SnapMlrror relationship, specifying the strictsync policy, then promote It. 

D. Modify the existing SnapMirror relationship specifying the strictsync policy, then promote It. 

Correct Answer: A 

Explanation: KB included in the reference also confirms C is the correct answer. Here is another KB also confirming;
https://docs.netapp.com/ontap- 9/index.jsp?topic=%2Fcom.netapp.doc.pow-dap%2FGUID-AE2302D3-E489-43FE-
B64F1D351DAC6787.html 

Reference: https://www.netapp.com/pdf.html?item=/media/17174- tr4733pdf.pdfandv=20216291358 

 

QUESTION 3

Exhibit. 
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You recently added a new ESXi host to your VMware vSphere cluster. However, you cannot mount any of the existing
NFS datastores to the host. Referring to the exhibit, which action solves the problem? 

A. Add NFSv4 to the access protocols. 

B. Enable Kerberos in the export policy. 

C. Add SMB/CIFS to the access protocols. 

D. Add HOST 3\\'s IP address to the NFS export policy. 

Correct Answer: D 

 

QUESTION 4

After deploying an ONTAP 9.8 cluster, you want to disable the unused Ethernet ports. In this scenario, which two
methods would accomplish this task? (Choose two.) 

A. Use ONTAP System Manager. 

B. Use the command line interface. 

C. Use Active IQ Config Advisor. 
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D. Use Active IQ Unified Manager. 

Correct Answer: AB 

 

QUESTION 5

You have two ONTAP clusters and are setting up a new SnapMirror SVM replication (SVM DR) relationship. Which two
statements are true in this scenario? (Choose two.) 

A. The target SVM subtype must be dp-destination. 

B. The source SVM subtype must be default. 

C. The target SVM subtype must be sync-destination. 

D. The source SVM subtype must be sync-source. 

Correct Answer: AC 
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